(» Formula for conputing connection forns for a field frane. =x)
w[ffl, ff2_, ff3_1:=Dx [{ff1l, ff2, ff3}]. Transpose[{ffl, ff2, ff3}]1//FullSnplify // MatrixForm

(» Exanple 1 x)

Xy X2 - y?
el={-2 : . 0}
x2+y2 x2+y2

x2 - y? Xy
e2={- , =2 , 0};
x2+y2 x2+y2
e3= {0, 0, l},
wlel, e2, e3]
2 (-yD[xJ+xDx [y])
2y D [x]-2xD[y]
T x2yz 0 0
0 0 0

(» Exanple 2 [Spherical frame] =)
fl={Cos[¢] Qos[e], Cos[¢] Sn[e], Sn[¢]};
f2={-Sn[e], Gs[e], 0};

f3={-Sn[¢] Cos[6], -Sn[¢] Sn[e], Cs[¢]};

w[fl, f2, 3]
0 Qs [¢] It [6] O [¢]
-Cos[¢] Ot [6] 0 O [e] Sn[¢]
- [¢] -Ix [6] Sn(¢] 0

gl={Cos[e], Sn[e], 0};
g2={-Sn[e], Gs[e], 0},
g3={0, 0, 1};
w[gl, 92, 93]
0 D[e] O
Dx[e] 0 O
0 0 o0




